==
N & o & AF & H A A
20179 20l &h LB AX =Mt
EM: AZXY N
FM: HsdE 84
ol AREHS S4 CER-ED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
AT YD 13,343,383 11,059,276 2,284,107
Xl 1,799,000
J| 175,152
< 1,003,208
Al 10,366,023
HE4td s4 13,275,344 10,946,445 2,328,899
X 1,799,000
J| 175,152
< 1,003,208
Al 10,297,984
delEXNE s4 1,427,396 1,818,290 A 390,894
NIAAZXIGA 4 59,776 26,776 33,000
201 2et24d] 6,000 6,000 0
03 A2 Z Hl 6,000 6,000 0
OAd& d= 2 & &2 MsUa 6,000
202 O4dl 7,776 7,776 0
01 =S LHAYI 7,776 7,776 0
OAZ=I|E AREA
81,000& = 3% * 2& = 163 7,776
203 PR =&l 10,000 10,000 0
03 Al =X A2 =X 10,000 10,000 0
O&= & &2 MEUa =X 10,000
307 glz2+ol & 36,000 3,000 33,000
01 2L =4l 36,000 3,000 33,000
OMSEAXNE 2=5A43 2 3,000
OM=sgA 25X XI& 330,000& = 1003l 33,000
ZRAEZCNAE A3kt 4,700 4,700 0
201 L2l 4,000 4,000 0
03 A2 Z Hl 4,000 4,000 0
Od3tHaH A 4,000
301 L2 A S 700 700 0
09 HALAHIEA S 700 700 0
Odstss=i 24 700
ZOHO M=243t 1,200 2,400 A 1,200
301 L2 A F 1,200 2,400 A 1,200
09 HALAHIEA S 1,200 2,400 A 1,200
OXoHel HdelEXMSUSE &It 1,200
AZXOIAE 24 103,756 73,924 29,832
201 £B-2dH| 14,500 14,500 0
01 At 22l 3,000 3,000 0
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S AZXY N
M sME B4
ool WEHS 54 SE R
SAH-EB. S (3H) - HEAY - BE2 il HZS2
SPNEE=PNE-L=; 500,000 = 1 = 128 6,000
o3 ESY 300,000& * 2™ * 12& 7,200
o ME=8U 100,000& * 3Y¥ x 12& 3,600
oz Ayl 130,000& * 49 « 12& 6,240
o =SE2Y| 50,000 * 4% x 12& 2,400
oXE A FBEFOHYI
2,630,000& * 30% » 1H * 23] 1,578
oM YEEIY
2,966,000& * 30% * 2¥ * 23] 3,560
o= FEFIHYI
2,630,000& * 30% * 1Y =23 1,578
olisl =&Yl 8,750
o II| = H| 500,000 * 4Y = 23| 4,000
405 Kok SH 4,800 0 4,800
01 JtatY =2 ZF SHI 4,800 0 4,800
O&gE &bl #¢ 1,600,000 = 3H 4,800
sudsgds N 311,445 411,210 A99,765
307 QI2t0| ™ 84,445 85,210 NT65
02 DI2HZAAIEE X 84,445 85,210 NT65
OZAAEM=EUZ EHXA 64,745
OZJASMUS XA 19,700
308 X SHMSO0IA 227,000 326,000 A 99,000
08 NI Z0CStE X 227,000 326,000 A 99,000
Ostuis 435 X 127,000
Ostu M= KX 21|
20,000,000 = 5 12 100,000
M3 29 & 229,429 221,640 7,789
307 QI2t0| ™ 229,429 221,640 7,789
B OIAHHBEIE2IHIEX 229,429 221,640 7,789
OHYAMEE 20 165,324
oAIR=H 3,684,000& » 1H 128 44,208
oMNERE 4,321,000& * 14 128 51,852
oF¢ 2,742,000& ~ 1H 128 32,904
ox¢ 3,030,000& = 1H 128 36,360
OFEF I 8,268
oANR=H 3,684,000 60% 2,211
o MNBERE 4,321,000& 60% 2,593
ox¢l 2,742,000 60% 1,646
ox¢ 3,030,000& 60% 1,818
o4t = 17,372
(@)= ESESE= = 14,465
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2N AT
M Sy S4
@42 d2HsU (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
EHERALD] B = 0 ==& 52,000 55,000 A 3,000
307 gl2tol & 52,000 55,000 A 3,000
04 DI2ZHHALALSE E X 52,000 55,000 A 3,000
OM133 EHeatD] 83 S0 ==l i 52,000
SYRZ2AI M= XS EBHAZHSE 238,600 0 238,600
307 glz2tol & 238,600 0 238,600
04 QIZFHALALH 2 = 238,600 0 238,600
OHM26sl =2 E2)] HIALHMUHE HAE O
3 238,600
e sS0l S Ue 50,000 50,000 0
307 gl2tol & 50,000 50,000 0
04 DIZHHALALSE E X 50,000 50,000 0
OH#®3I| =203 50,000
MBS M= 8,170,700 4,333,377 3,837,323
Xl 1,799,000
J| 175,152
< 853,208
Al 5,343,340
HEHSE2LS 38,584 39,584 A1,000
201 Let24] 22,400 22,400 0
01 At 2t 2l 1,500 1,500 0
OAEZ=M 2= 1,500
02 232gHl 20,900 20,900 0
OAOIEEE 5 M3 1,000,000& * 128 12,000
ONOIEEH S dotx=Ex3
200,000& = 12& 2,400
OHMSAE IR AER 5,000
OF¥LAMUH=ZHSE |RFHl 300,000& * 58 1,500
202 O4dl 5,184 5,184 0
01 = LH 4 Hi 5,184 5,184 0
OAZ=Y M HR=2
81,0008 = 4 « 2& » 83 5,184
203 YR =&l 10,000 10,000 0
03 AIMF=AH R =AH| 10,000 10,000 0
OAZ=x S 10,000
206 M= Hl 1,000 2,000 1,000
01 =4l 1,000 2,000 A 1,000
OMEHSALE 22 1,000
AEIAH0IEA K 30,720 23,427 7,293
J| 21,504
< 4,608




SN ARZYND
3 MsaY |4
Sl MEBHSD e (el @2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 4,608
301 et d =S 30,720 23,427 7,293
J| 21,504
< 4,608
Al 4,608
01 MEI2EZE+05l= 30,720 23,427 7,293
OAZ=2H 0|SHAS 30,720
J| 21,504
< 4,608
Al 4,608
MEHSX A X 159,648 152,448 7,200
J| 76,824
Al 82,824
307 21201 A 159,648 152,448 7,200
J| 76,824
Al 82,824
02 QB AAFEX 159,648 152,448 7,200
OMENMSX X BHXI
2,134,000& * 6¥ » 123 153,648
J| 76,824
Al 76,824
OMBUSXET SRS I
500,000& » 6 = 23] 6,000
Hza dMsgs N 159,648 152,448 7,200
J| 76,824
Al 82,824
307 21201 A 159,648 152,448 7,200
J| 76,824
Al 82,824
02 LAFAAFEX 159,648 152,448 7,200
002 MSHS X
2,134,000& * 6% » 123 153,648
J| 76,824
Al 76,824
ooz4 MEXNEZX EEFOH
500,000& » 6Y = 23] 6,000
MExs T2 22 19,200 24,000 A 4,800
< 9,600
Al 9,600
307 glz2+ol & 19,200 24,000 A 4,800
< 9,600
Al 9,600
02 QAFHAANGEEE 19,200 24,000 A 4,800
OdENs=Z2Idl 23X 9,600
< 4,800
Al 4,800
Odatrsns 29 9,600




2N AT
FM: HsdE 84
ol MBS M CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
< 4,800
Al 4,800
M EN =SS Ot 81,000 115,000 A 34,000
307 gl2tol & 81,000 115,000 A 34,000
04 DIZHHALALSE E X 81,000 115,000 A 34,000
OZJMEMEUI &It 67,000
OZ3L ZFoHMEx=cHal &It 14,000
sAE Hsns 29 23,000 28,000 A5,000
307 21201 A 23,000 28,000 A5,000
02 B AAFER 23,000 28,000 A5,000
OM=sLs 2I(HIS, 57 HEQUE AT S 23,000
d= & T MEMSUHE 50,000 70,500 220,500
307 gl2tol & 50,000 70,500 220,500
04 DIZHHALALSE E X 50,000 70,500 A 20,500
O&= & Tt MEM=sUa 50,000
d=astete2ere sl 40,000 0 40,000
307 glz2+ol & 40,000 0 40,000
04 RIZFHALAIH E = 40,000 0 40,000
O&zsretel=Zere sl 40,000
ZOHQl MEX=CHS 5,500 0 5,500
307 21201 A 5,500 0 5,500
04 QIZFHALAIH B = 5,500 0 5,500
OZOHe &M= &It 5,500
HEa sotg A 15,000 0 15,000
307 21201 A 15,000 0 15,000
04 DIZFHALALSE E X 15,000 0 15,000
Ooz4l stotgd =M &t 15,000
M258 ZJAEMEXSUH 1,102,400 0 1,102,400
201 £B-2dH| 770,000 0 770,000
03 A2 Z Hl 770,000 0 770,000
OZJCUMEHFS M= 770,000
202 o4dl 2,400 0 2,400
01 = LH o4 1l 2,400 0 2,400
OFxG Y2z 2,400
307 21201 A 230,000 0 230,000
04 DIZHHALALSE E X 230,000 0 230,000
OZJ3AEUMETSHE M 230,000
401 Al HIZ 201 Y] 100,000 0 100,000




S A=Y M
HEM: ALY 4
ool MBSO K CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 100,000 0 100,000
OZLJATDMEY U HH MSAE HEX 100,000
20 HRLHEH 24 310,000 310,000 0
307 gizto| A 300,000 300,000 0
05 QIZtRES 300,000 300,000 0
O=20H=HE CI2HAE A HI 300,000
401 Al HI L 2 0HHI 10,000 10,000 0
01 Al&H| 10,000 10,000 0
O=0HM=HAEH AlAEAHH| 10,000
22 M= A& A 140,000 20,000 120,000
401 AlEHIZL 2 0HY| 140,000 20,000 120,000
01 Al&H| 140,000 20,000 120,000
OHOIEEZ &b 120,000
OsUM=Ald &EH| 20,000
EHe S X DASSEH XM (YEIAZXEIS £4A) 5,996,000 3,333,000 2,663,000
Xl 1,799,000
o= 839,000
Al 3,358,000
401 Al EHI L 204 HI 5,996,000 3,333,000 2,663,000
Xl 1,799,000
o= 839,000
Al 3,358,000
01 Al&H| 5,981,047 3,324,025 2,657,022
OFEjg NIASSH LAY 5,981,047
N 1,799,000
& 839,000
Al 3,343,047
03 AlE 20| 14,953 8,975 5,978
OFEjeg NJIASsH ZHEAMY 22Ul
5,981,047,000& * 0.25% 14,953
ME =S 225,400 264,500 A 39,100
AMEI| MEH S 68,000 60,500 7,500
307 2iz2to| A 68,000 60,500 7,500
04 SIZ2ISHAAISH E & 68,000 60,500 7,500
OEHBEAIED] & MENEUS 68,000
BHEH2ED] 20 MEHEE=2U 3 30,000 40,000 A 10,000
307 gizto| A 30,000 40,000 A 10,000
04 CIZ2tSHALALS B = 30,000 40,000 A 10,000
OHM173 HEU2D] S32U3 30,000
EHBH A AAHES O 13,400 20,000 A6,600




2N AT
M Sy S4
& MEHsU (cho &)
= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
307 glz2tol & 13,400 20,000 A 6,600
04 DI2HHALALSE E X 13,400 20,000 A 6,600
OEHEH A AHAMHES CH S 13,400
EHSRAIEE 2R & O242& 2EH3E 14,000 9,000 5,000
307 eIzl & 14,000 9,000 5,000
04 QIZFHALAIH E = 14,000 9,000 5,000
OHNB3l EHSHAIZE 2R T 2 sZU3 14,000
EHER AN =2 =52 HILIAWE 18,000 20,000 A 2,000
307 21201 A 18,000 20,000 A 2,000
04 QIZFHALAIH B = 18,000 20,000 A 2,000
OXN8sl EfeAtEH 8= =S HILIANE 18,000
EHEHAH sSQ BHERIE T 3 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
OM11a EHeAtHl =250 BHERIEUE 30,000
EHER A 8= sSQ SFUE 18,000 20,000 A 2,000
307 glz2tol & 18,000 20,000 A 2,000
04 DI2HHALALSE E X 18,000 20,000 A 2,000
OHM723 BHHMAH =55 =203 18,000
aYEIE A2EelDltHs 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
OdeEIGE AZ LItz Hal 10,000
XA HEH X 8,000 0 8,000
307 21201 A 8,000 0 8,000
04 QIZFHALAIH B = 8,000 0 8,000
O20178 & XA&EH L 2D A 8,000
Q2L AXAI Al2AZEeI] s 8,000 10,000 A 2,000
307 gl2tol & 8,000 10,000 A 2,000
04 DIZHHALALSE E X 8,000 10,000 A 2,000
OM173l 2UHZLRAX AZeldl Hal 8,000
DAL AB A2 ZIIHS 8,000 0 8,000
307 glz2tol & 8,000 0 8,000
04 QIZFHALAIH E = 8,000 0 8,000
O2017& EHEY &b =z 2I1U 3 8,000
MSIIBtAIE xS - 2tel 2,517,248 3,367,278 850,030
< 150,000
Al 2,367,248




SN ATEYHD
MM HENY 84
Solr MRINBANLEL - B2 ECH-E)
S B O (SH) - HRAY - BAS 0l Ak o8 ﬁlf& HDS2
S8y eyl 885,407 314,072 571,335
101 @124 28,045 27,610 435
YBIEEEP =P 28,045 27,610 435
OxClBel 22X B4 28,045
o023 51,7602 * 2% * 200 20,704
oxEsY 51,7608 * 2% 402 4,141
o 2HAlH| 3,008 * 2% * 2002 1,200
oY HE | 500,0008 * 2% * 23 2,000
201 LEr2 | 146,170 140,870 5,300
01 At el 41,470 41,470 0
OB Nepel 29 8,000
O=82X AEE 14,000
OZIF N& gLy
50,0008 * 3.3% « 118 19,470
02 22| 104,700 99,400 5,300
OZZ22 2 MA 53,900
cHIQ(THA) 1,000,002 * 12 12,000
oMot TR 3,000,0002! * 128 36,000
cEHFMERYS 400,00080 * 23] 800
oHSE £H24E 5,000,0008 * 13 5,000
SRS HAI(1TH) 100
SL:EX] 6,000
oBBZFIY il 500,0008 * 4% 2,000
oxtzr U FCIJIH HaH
400,002 * 102 4,000
ON& ZHI X bl 28,000
CEZEAINF NES RXBEl (ML) 28,000
Oxtgl 3,600
o322y 300,009 * 128 3,600
ORAAHAAE RN 2| S
500,0002! * 128 6,000
O2+HelAE RX2el S
300,00080 * 24 * 122 7,200
202 01t 2,592 2,592 0
01 208l 2,592 2,592 0
OzsIY 2ol Yexa
81,0008 * 2% * 2 * 83 2,592
206 TH 2 bl 35,000 25,000 10,000
01 24l 35,000 25,000 10,000
OF8AIIE 292l (M=% HES) 35,000
401 Al HI YL 2 THYI 665,600 30,000 635,600
01 A&l 665,600 30,000 635,600
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2N AT
3 MsaY |4
S MFIIBAExd - 22l (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Onal=g g2=a
81,000& » 2 * 2& * 43 1,296
206 M= Hl 6,000 6,000 0
01 M= 4l 6,000 6,000 0
Odd & 4, oA S UM 6,000
Jtgat DXHEAE Fl 5,000 5,000 0
401 A& HIZ 201 bI 5,000 5,000 0
01 A& HI 5,000 5,000 0
OgdtnitHessdd i 5,000
SEZINE &0 wi 300,000 0 300,000
< 150,000
Al 150,000
401 AIEHI L 201 300,000 0 300,000
< 150,000
Al 150,000
01 A& HI 297,855 0 297,855
OZTEZINE FAZLC WM SA 297,855
< 150,000
Al 147,855
03 AIE 2 THHI 2,145 0 2,145
OFTEZINE MAZC A SA 20
297,855,000& * 0.72% 2,145
SEZIE 284 F 500,000 0 500,000
401 Al HI K 201 I 500,000 0 500,000
01 A& HI 496,425 0 496,425
OsEZEINE 2z34 FH 496,425
03 A& =2 THHI 3,575 0 3,575
OZ8INT 2Egs FH 20
496,425,000& * 0.72% 3,575
SEZIE AL B 200,000 0 200,000
401 Al HIZ 201 Y] 200,000 0 200,000
01 A& HI 200,000 0 200,000
OZEZINE ME E= 200,000
3B5MOIEZEt2H =78 =4 350,000 0 350,000
401 AIEHI L 2CHYI 350,000 0 350,000
01 A& HI 350,000 0 350,000
O365M 0 ZEI2H =7E =4 350,000
HY2LIH (A=) 68,039 62,831 5,208
Jl23&dl 35,840 35,840 0
JlE2zl 35,840 35,840 0




2 A ExN
PSP HedAdd(AZ =4 H)
chel Jl2adl ?EA)
S EB B (EH) - MBAY - BAS O At 0t il 2
201 ety 30,360 30,360 0
01 AtR 22| 30,360 30,360 0
OfAE =343yl 6,600
o ALIX 300,000& « 12& 3,600
oA 250,000& * 12& 3,000
OARE SAMX E) 4,800
o ALIX 200,000& = 12& 2,400
oALIX 200,000& = 12& 2,400
OHE MNP 225 2 7,200
o ALIX 300,000& * 4CH = 23] 2,400
o ALX 300,000& = 2CH * 23] 1,200
o ALIX 300,000 = 6CH * 23] 3,600
O= &l 11,760
o ALIX 7,000& * 10 = 7 x 12& 5,880
o ALIX 7,000& * 109 = 7 = 12& 5,880
202 O B 1,280 1,280 0
01 2L Y| 1,280 1,280 0
OHlaz2 LH O B 1,280
203 &R =&H| 4,200 4,200 0
04 ENSHLRF=AH| 4,200 4,200 0
ORANSELERF=AH| 350,000& = 12& 4,200
ol 2AHY| 32,199 26,991 5,208
olaA 2| 32,199 26,991 5,208
101 @121l 32,199 26,991 5,208
03 21 H A2 B 32,199 26,991 5,208
Os& &l e 22N B 32,199
ocllza 1,531,070& * 1¥H * 12& 18,373
SENIO =] 1,531,070& * 400% 6,125
oXMATALE 160,000& * 18 = 12& 1,920
o HHZAH| 120,000 = 1€ = 12& 1,440
ol 100,000& * 198 = 12& 1,200
o JIH 2 = H| 30,000 * 1H x 12& 360
cHIF=RIIHY 91,2963 * 12 1,096
oY A ZF Iy 1,531,070& * 110% 1,685




